HeRAXINTE 20 FUR, AR FZRE, BREAEHH,AAL T L+,
MEERRXOAZEEEHE  LERE, Rt s 1. EBEHERGHEE X BHLZ 5L
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B Ay R RS OIEXL BT AR EFT HREEHE AL 2011 F
&5 AF Task 2 AMER, b LEA“SIHEEAME" R P BRI h3EL
BT FRAFERT HEEEAFRRATHRAZ ARBET —RHFAR A, HEHK
FEA, REREZENHEBRMESER BEERFHT,
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2 AEE . R MESCBR AR 2007 A B B FATE SIS B M BB R
%5 B KA RITGERBEIEZ, F4 0 BAE BRI R H 5T W,
A k4] “ A Be X"V ik, 3L ) FAVE &3 (activity) P ARL IMEX 9 B i 5 KAE L3R
B RARRAAETE k5 R 6 B G, AT 4 B K IR I LA ik
By TARSCAE 69 B e, 58 iR 9P I ik U3 Am 22 4 1 55 AR D 2 548 BY KR 5 AR Ak
71 B A7 3" %9 72 (Stephen D Krasken 1985).,

3. KM BT KADLE G 8 KE/EAAEHITHOI, K BB 8 5
A AKX 8 EFAEMMT 34, A RET XS H 4w I 4,

4 AN, AR DM B AR 2 EBE G ELME LSS Y 2
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A, ARSI H AL ) B2 7E AR
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RS (off the topic)ﬂ‘]%‘ﬁi 2 W40 45 Task
Response 7%, F HIREA 58 E 1E1E
%, XHIFTH—NEFLEMAET , ENFEE
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3 WVE 5 R AR W R AT R AR
R Bk 4 T & B KEN RIF 4y, Z 3 A
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AT A F A TR, ke B AR50 &
B MRS R IR H MR AR
W 35 (http /howw.ielts.org) 55 HE BVE 7 F
(IELTS Handbook ) "1 #f A 5E BRI UL HH

MIFTE L&, MRS /EH Task 1
(A BGEFR R “/IME”) F Task 2(HFRH
“RAESCT) ERAR T DU AN KUV 43, BI . 3208
50 AL AED:, EERNESAERRE
T /MESTH R S A S B SR T R AE
SCWL A W, TR B 1R AR ; 45 A 4 Y
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A E AR B AR R E AR B
WAL 83 B, B A RS N IEMES
[[TREIE 2 el 5 fc = WD PO A il 0~ G i
WA AU BAR AR, K AMESCHE
JG =3 LRI H EEOREA 5,

e KX LW R SEER
TACM) | Task Achievement SR TIES A A, AT M
TR(K) |Task Response g T R bt R T A T T A S
CC | Coherence and Cohesion | #5551 B A B A
IR |l Hesinss I N A S, I A E
i (Zcz:r:rm;al Rangoand | ";;izﬁﬁﬂ’mﬁﬁﬁkﬁﬁmiﬁ&#ﬂﬁﬁ\

FoA TR 8 T B B A Task 2 MITE AR E
BEET 4.5—8.0 MR/ By BARE R[] 2%

ITAT AR B RS BESR  Ar 4R B C AR SO FRAE
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Proverbs are the daughters of daily experience.
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FEE T X PIAF b BT A fR 28 AR ], 3 1)
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UiARE, HERK LAY TERSEHERZ, 8
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Bk E I N HE T -~ eREEE
TR RAREZ  RER E—THERE

AP EERT 5.5 4,

WA BRI RAZA 7 R %E
2 B EREEERENRGEIE
Y&, % Ja HUB U AT 48 15 1 20 A i %
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As far as I can see,

. On the one hand,

not only

repeatedly shown,
On the other hand,

such as or

in that
. As films have

but also

. For those who are concerned about

. Ultimately,

is not

to

. People are still reluctant to

; they are unlikely

(From Insight Into IELTS, Vanessa. ] & Clare. M 2004 )
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B, AR B, B R IR, HORIREIES
AE 1 A BB W 2L 75 M BEAR 7 ) X B ARIA Y

TR, GRS e R
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EH A E



BERIE 1350, RERHENITMHESA
FLURERN AREERBE R, IITAT,
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EEMIXE, —AHFIE 34 R GRET
Xk, EHETR 4057,

HW, BATE F W22 > 30, A3
FREEIEIM A7 REURBRANEZE, N
3T b R W A D5 AR R 5 41, 5 ST T

RAWAEAB TS HEHEEE FIHE
VRS- 24 R TE 3L, B4 Bk A iy
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XK FATT AU B Bk A AT
BER AR ILRE, R R Task 1
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TATEL — R KESCHEOREF ¥
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Many people keep a dog or cat or some other kind of pet in

their homes. [Although there is some expense involved in terms of

good food and medical treatment, there are still many bhenefils to
keepinga pet.]
First of dll, pets are good companions. [This is especially

important for people who live alone and for older people who do not
go out much.] Some pets can also help to protect the house from
burglars. Second, dogs and cats like to play and can give hours ol
fun to children and adults.

responsible when taking care of an animal, and it also helps them

[Children can also learn to be

" to be more mature and reliable.] Finally, [the actual expense of ‘
feeding pets is not thal high as they can eat the leftovers from

family meals. ]
Some people claim that keeping pets is not hygienic. I do not
think this is necessarily true. Responsible pet owners keep their

pets clean and healthy so they do not smell bad. People also say

| that certain pets, such as large dogs, can be dangerous. Indeed ‘

there have been cases of dogs attacking and seriously injuring
children. [ However, these attacks are rare, and are often the result
of irresponsible owners who either do not train their dogs properly

or actually train them o be aggressive.] So, the issue of pets being

56X M4
1. VL2 B3, 5
RREREY.

2. AR FAEA,
FHULE, EAREMIE
BREF: EREHAA
KeithtE, £HDaHH
RALRRREG, BB
BRI T oA R
DAL, ERFE
HHEAE,

38R Aie, AT
X &AF '

4. HHXEREFF

®, RESAGERTF

" unclean of dangerous is in fact often created by the owners, not the

pets themselves.

To sum up, there are more benefits than drawbacks to keeping

therefore the cost is justified.

a pet, especially for elderly people and children. In most cases, |

88 X,
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E-#y BMES{E/MEX (Task 1)

=> IELTS Academic Writing Task 1
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(Describing Trends - Line
Graphs)

FEABTTESR:

1. # B A5 4#69355 How to describe trends
ARG E 894 5] Practice for describing trends
A EBR B How to describe line graphs

LA EMELY S Practice for assembling line graphs

PSS ]

A friend is never Kown ill a man as need
FERIWF A,
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M b T A E 2R BATTAT LATE ) ZEAR R T A X 55 B[R] AR AR A DG i BB e, AR 22
BRIAA T A 2SR 2 AR AL T 1) 2 BRI 7 AR AR BE T 2 N B DAL B T £
1o B 7 Al e A AR BB B 1] BE A 9 A AeT HE A1 AN (7] B9 e 18] B ) R AR AR B 5% SR R Fiak e 2 F b

TS A P, AT R S S R B R B AR
—. BHMBHAKRER

AR, S U TANER REEM S i REBH R /MES, BRMEEPTEREUT

ANNERBEY Jre BE R R GE

slightly, slowly

ER . axswR

HYEE  ENREEFREGEY % b & G4 ) S

gy | IO TR RSP 0

REWE EBN T A BMER (B A B A A
BEEZ | ARM/ARN, REESN(EEAFEWER)
BHEEE I sk 2 R BOHE BT BT N A 38 FH ¥£ < to, by, from... to..., between... and...
I - - -

[ 2 X AR B B] B BT A 18] B 5 Lin, on, at, from.. to..., during, between...
B and... - - - - -

EEBER | T RSN AT B A B T

BT

tourists, food

increase, decrease

| from 50 miles to 2010

miles

in January, at 6 p.m.

| whereas, when

THRZAANRZRRME @R LB .

Sample Task 1.1
The graph shows the sales of laptops in

100

a company in 2010. . %0
£ 60

. " : ; g w0
Summarise the information by selecting =
and reporting the main features, and 0!

make comparisons where relevant.

Sales of laptops in 2010

Xt 1 A% 3 A laptops WHIBEBHEMMEIT .

B i =9 F1E BE B b
Between January ) from 10 thousand to 25
| sales of laptops increased | slightly In contrast,
and February, | thousand.
during the next } . ‘ .
h its sales volume | rose ‘ dramatically | to 90,000 units. However
month, | ; 1

ERERMNE, EESCh, BaaF5 AR A Ea THE NEERTEE,

4. It, however, had a sudden fall in the following mowth.

A good book s ¢ good friend.
W Hd PR,
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rose to | arisein 1 swelled to a swell in
;creas;d tc; ] an ;nc:e;gé in “ went up to a growth in
‘» aséena;ed to ] :n ascent torﬁ climbed up to an upward trend in
:Jar;éditoi o | a soar - boomed to a boom in
;II fo ] a fall inii reduced to | a reduction in
‘Iidieclin;f;ﬁi’ 1 ;et,:line in went down to a;Iide in
'Jéé;ea;é;:}‘;o¥’ a ‘ ; c;ecrgaéé inyw plunged to a downward trend of
collapsed to a colia; in slumped to | a slump in
3 a i;aiy‘e;_c;w;tant at - remained stable at no change in ﬁ &
g ?aintained the same level at leveled out at on a level with %
P fpfeaked at ' a peak of | fluctuated around | a fluctuation around & 8.4
f_’ ;o;)dr;iiiﬁ 47 - plateau at reached a plateau at ,%\ %
58
‘ dramatically dramatic substantially substantial j.'lE\ ?
\[szgn_sm;Iy— - fsurprisiinigi : noticeably vnoticeable 15,5
B 2L | strikingly ' &k?ng - considerably considerable g
enormously enormous significantly significant < y ,
“remarkably § remarkaﬁa - obviously obvious {
- moderately j rr?od;e;z; - gradually gradual
B | silghtly slight - slowly slow
steadily | steédy ‘ minimally small
arrived at a climax reached a maximum number / amount of
T hita péak / p;ak at soared / rocketed to a highest point of
o hit a historic low ra touched / rocketed / reached the bottom of
Rl j hit a trough 7 reached a lowest point of
e B LA B A3 A AR T Bhi i %5t
=, BB E S |
1. 77 1615 2% R A R R ) E
The number of the patients reduced steadily to 3 cases on the 30th of December.
» The patients’ number had a steady reduction to 3 cases on the 30th of December.
2. B R T A A ) §
After an one-hour remarkable growth / growing significantly from 3 p.m. , the passengers in
the subway rapidly reached a maximum amount / swiftly arrived at a climax, 400 people at 4 p.m.. 1'5

A good book is the best of friends, the same today and forever.
—AFH A —%,
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(Practice for describing trends)

I Match each graph (a—h) with the most appropriate description below (1—10).

MA b e A\ )

g b

. Sales of washing machine fell steadily.

. iPad sales rose gradually.

. Haier TV sales fluctuated wildly, and the trend was upward.

. Sales of cell phone fluctuated wildly, and the trend was downward.
. Total digital camera sales dropped slightly in the last four months.
. Sales of vacuum cleaner fell and then rose dramatically.

. The sales of iphone 4 rose gradually and then climbed sharply.

. Purchases of cassette recorder declines dramatically.

O 00 N O L A W N =

. Sales of games consoles decreased and then levelled off last month.

10. The production of DVD multi-player in Italy plunged to its lowest point.

I Find six synonyms of the verbs and adverbs given in the table below.

Items Synonyms ( verb ) Items Synonyms (adverb )
I | . i =
grow ‘ fast
fall slow
Il Match the graph and its description.
[ ] The number of books sold was A B
fairly steady over the first few weeks of the g(())?) igg
year with a slight rise to 205 per day. [ | }g(S) 1 300 -WT-
P i 200
After that sales went up and down wildly, LARS e 100
first doubling to 400 units, [ | and - 1st 2nd 3rd 4th Sth
subsequently falling back erratically again b
C
to 200 books. 3(5) 220
[ ] These fluctuations were followed %88 ;#i 200 D\
by a period of stability as sales hovered %§§ H—x——
around the 200 mark. 1?8 10

}i Joke ;ta;erigain; ;1n eneimy but loses a friend.
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Writing Plan

Introduction

Body
paragraph 1
First important
point and related

details

Body
paragraph 2
Other important
point and related

details

Conclusion
Important

points restated

A ittle knowledge is a dangerous thing.
'—43’*_“, E] xk#k/\o
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Activity 2 More exercises for column graph

You should spend about 20 minutes on this task.

The graph below shows the changes in food consumption in Great Britain from 1975 to 2000.

Write a report for a university lecturer describing the information.

You should write at least 150 words.

Changes in food consumption in GB

900

800
700 —

600

g 111111

500
400

'

300 e,

200 —e
100

grams per person per week

.

—=m— hamberger

1975 1980 1985 1990 1995 2000

Al roads lead to Rome.
FERRBT L,
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(How to describe data)

AUMREMETBROLH, AR CHMEEEX ik EEBERE AR
REHHHE , MERI\BEAEWARENGF | BEEA L, TERITDE——@R,
IR =A Dk, Hob BRI b« BB
A 8 JE ) R <A A R A SR | = A T ek

PR — . T R B R S TR

VAP A4 B Tast 2.1 M EBELHIERAR Sample Task 2.1
1. The number of houses in Town B Houses built in the towns of
experienced a steady rise from 40 new A and B over the last century
360
houses in the first 10 years of the century, to % 320 ey
o own
Jjust exactly 120 during the thirties. é %ﬁg % Town B
2. The number of houses that went up kS fgg
in Town B leapt, first to 280 in 1980 and £ 120 ,
; Zz 80
then to 360 houses in 1990. 0 I k é ‘ '
0
FFHFLLLESE

Decades

ST LR TR R AR EREN  EER.
(1) B E Y BRSNS B R 38 2 3 B A kb 78
(2) [R5 B G HK f LA 5008 22 40 10 104 A st i) A {68 S8 45 5 Y AT
(3) WHF R SR FHEREH - LR RBERE N,

RIEX AN, RATHEME Town A BIETHIEH .

3. While the 1980s saw house building in Town A plummeting to only 10, in the 1990s the number
of new houses rocketed to 270, a rise of more than 2600% on the previous decade.

JREOU < S48 %55 i A e e B

T E E R, 75 2 R 2 R A B B3 DX B AR B 9 A 9 1 2 B TS RE X A8
fif A R, BRI Sample Task 2.1 RV HUR B8 S0 I T SCRILH 2 B9 1R .

AUl that glitters is not gold.
AAMR—EHRELT,



in North America.
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(How to describe column charts)

UGS & N ITE SR :0E 2N IRCE (SR -F (083 € TR T AUk D R VY 82 & 57 a7 o

Mobile Phones and Landlines, per 100 people

Sample Task 2.4 100

90

The chart shows the number of mobile
phones and landlines per 100 people
in selected countries.

80
70
60 1
50
40 1
30
20 1
10 1
0<

Write a report for a university lecturer

Number of phones per 100 people

describing the information given.

W Mobile Phoncs

—  Landlines

Canada US Germam Denmark UK Sweden Italy

AR 1] 8 B S

Model Answer (8.0 77)

The graph shows the number of mobile phones and landlines per 100
users, for selected countries. Overall, most of the countries included in the
graph have more mobile phones subscribers than landlines.

Most European countries have high mobile phone use. The biggest
users of mobile phones are the Italians, with 88 cell phones per 100 people.
For example, Italy has twice as many mobile phones as landlines, with 88
mobiles per hundred people compared to 45 for landlines. Mobile phone use
is low in Canada, with fewer than 40 phones per 100 people. Denmark, is
also unusual because it has slightly more landlines than mobile phones.

FHowever, in some countries, the number of landlines is higher than
the number of mobile phones. One example is the USA, where the number
of mobiles, at 50 per 100 people, is much lower than the number of
landlines, at almost 70 per hundred. A similar pattern can be seen in
Canada. The highest number of landlines in the graph is in Denmark, with
about 90 per 100 people. In contrast, the lowest figures for fixed lines are
in Italy and the UK,

In conclusion, it seems that mobile phone use is higher in Europe than
(205 words)

M BT S SCAT DL i
1 2CHNENBEAR, BBRSAEE RBEGERRE, P EABEmS EERRE,
2. B A EM  Ris HRICE SIS B T3S, REX SR AT 8,

3. REA 7 AR HEAL——EANA JUEE QRS B,

TG
BEABEEH-—REE
HEOHE, —22E
gk, KB R}
FAHBEER, 5kt
MiEE VB R BRI,
WA E R, E B AL
T A,

X
HENBHBITFE B
BEMAWSE,
HILERFE,9XE
TEA,
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A miss is as good as a mile. .
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(Practice for assembling column charts)

This activity prepares you to do an academic writing test by giving you practice in writing a

description based on another numerical information.

c, Exam tip

Being able to write about numerical information is important for IELTS writing

Task One, where you often have to describe the information in a column chart.

Activity 1 How to assemble column charts

Study this graph and the writing plan carefully. Then copy down what you choose from the Step 3
to Step 6 given after the plan on the Writing Plan paper.

You should spend about 20 minutes on this task.
The graph below shows the different modes of transport used to travel to and from work in
one European city in 1960, 1980 and 2000. Write a report for a university lecturer describing

the information below.

You should write at least 150 words.

1960

| 1980

- NN W W
“m © wn O wn
Il

W 2000

Percentage of commuters

—
S wm o
' | )
|

train car tube bus

Mode of transport and years

A motﬁerT srlbve never changes.
FEKE,



Writing Plan

Introduction

Body
paragraph 1
First important
point and related

details

Body
paragraph 2

Other important

point and related

details

Conclusion

Important

points restated

An apple a day Reeps the doctor away.
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to more than 28%, but witnessed a fall back to nearly 22% in 2000, which was a little higher
than 1960 (18%). Adversely, use of the tube was relatively stable, falling from around 28% of
commuters in 1960 to 22% in 1980, but climbing back to reach 25% by 2000.

p) The number of people using trains at first rose from just under 20% in 1960 to about 26% in
1980, but then fell back to about 23% in 2000. Use of the tube has been relatively stable,
falling from around 27% of commuters in 1960 to 22% in 1980.

q) The number of people using trains at first rose from just under 20% in 1960 to about 26% in
1980, but then fell back to about 23% in 2000. Conversely, tube passengers fell from
approximately 28% in 1960 back to 22% in 1980.

Step 5. The second body paragraph. Choose the best second body paragraph.

r) On the other hand, the use of cars increased steadily from just over 5% in 1960 to 23% in 1980,
reaching almost 40% by 2000, whereas the popularity of buses declined, falling from just under
38% in 1960 and only 15% in 2000.

s) On the other hand, the rate of car use increased steadily in these forty years, form over 5% in
1960 to 23% in 1980, reaching almost 40% by 2000; whereas the preference of buses declined
gradually between 38% and 26% in the first 20 years, even arriving at its lowest point 15% in
2000.

t) On the other hand, there was a dramatic increase in car using for travelling and working from
over 5% to 23% during the first twenty years, but bus commuters tended to choose other
devices over the same period, reaching 26% in 1960. During 1980—2000, the number of car

drivers went up but bus decreased to its historic low in 2000.

Step 6. Conclusion. Choose the best concluding sentence.

u) Altogether, the graph shows that citizens in one European city preferred driving their cars to
travel and work than taking buses in recent years.

v) Altogether, car user in 2000 was more than any other three transport devices.

w) Altogether, the graph shows that there was a surprising change in people who chose four kinds
of transport devices (train, car, tube and bus) in the period of 1960, 1980 and 2000.

x) Although, the rate of choosing buses as commuters’ main transport mode was the highest
(38%) in 1960, it was fact that 22% and 25% of them used trains and tubes respectively 40
years later, which was far below car user in 2000, 38%.

y) The rate of choosing cars as commuters’ main transport mode was the highest in 2000, but it

was the fact that 22% and 25% of them used trains and tubes repectively in 2000.

An hour in the morning is worth two in the evening.

== E ii‘l"é—{_ao

Ay
o

-0 3| Iéﬂﬂi%
®
=

(1 oseD )RS TdichRs

._....\
N
e

37



